COP 3223 Section 3 Exam #2

Form A

Fall 2009

11/4/09

Lecturer: Arup Guha

Directions: Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 3 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. Hand in ONLY the scantron, keep the test questions, and take the free response section of the exam.

1) What is the output when the function main1 from the code handout is run?

A)2 1 5 4 0 3

B)1 3 5 2 0 4

C)1 4 5 0 2 3

D)5 3 1 2 0 4

E)None of the Above

2) What restriction on the contents of array guarantees that function1

will not cause an array out of bounds error, assume that length is the length of the array?

A)All values will be in between 1 and 6, inclusive.

B)All values will be in between 0 and length-1, inclusive.

C)All values will be in between 1 and length, inclusive.

D)All values will be in between 0 and length, inclusive.

E)None of the Above

3) If all the values stored in array in function1 are distinct and the

function does not cause an array out of bounds error, what guarantee can be made about the contents of array after function1 is executed?

A)The values will be in ascending sorted order.

B)The values will be in descending sorted order.

C)At least one value will appear twice in array.

D)The sum of the values in array will be different than before.

E)None of the Above

4) What is the first line of output when the function main2 from the code

handout is run?

A)a = 7, b = 1

B)a = 5, b = 1

C)a = 5, b = 2

D)a = 2, b = 7

E)None of the Above

5) What is the second line of output when the function main2 is run?

A)a = 1, b = 5

B)a = 2, b = 1

C)a = 2, b = 6

D)a = 2, b = 7

E)None of the Above

6) What is the third line of output when the function main2 is run?

A)a = 12, b = 6

B)a = 20, b = 2

C)a = 20, b = 4

D)a = 24, b = 4

E)None of the Above

7) What is the fourth line of output when the function main2 is run?

A)a = 12, b = 1 

B)a = 12, b = 6

C)a = 16, b = 5

D)a = 16, b = 6

E)None of the Above

8) What is the first line of output when the function main3 from the code

handout is run?

A)a = 7, b = 1

B)a = 7, b = 2

C)a = 5, b = 1

D)a = 2, b = 7

E)None of the Above

9) What is the second line of output when the function main3 is run?

A)a = 1, b = 6 

B)a = 7, b = 6

C)a = 6, a = 2

D)a = 6, b = 7

E)None of the Above

10) What is the third line of output when the function main3 is run?

A)a = 27, b = 10

B)a = 34, b = 0 

C)a = 34, b = 8

D)a = 39, b = 0

E)None of the Above

11) What is the fourth line of output when the function main3 is run?

A)a = 26, b = 6

B)a = 26, b = 34

C)a = 39, b = 6

D)a = 39, b = 34

E)None of the Above

12) How many values can a function return?

A)1

B)3

C)4

D)more than 4

E)None of the Above

13) Which of the following is a valid function prototype?

A)mysqrt(4);

B)double mysqrt(double val);

C)answer mysqrt(double n);

D)double mysqrt(void n);

E)None of the Above

14) In this code segment, which line causes an array index out of bounds

error first?

int nums[10], i;      // line 1

for (i=1; i<10; i++)  // line 2

  num[i-1] = 2*i+5;   // line 3

i = 0;                // line 4

while (i < 10) {      // line 5

  int t = num[i+1];   // line 6

  num[i] = num[t];    // line 7

  i++;                // line 8

}                     // line 9

A)line 1

B)line 3

C)line 5

D)line 7

E)None of the Above

15) Which of the following correctly opens the file "num.txt" to read from?

A)FILE* ifp = fopen("num.txt", "r"); 

B)FILE* ifp = fopen("num.txt");

C)FILE* ifp = fopen(num.txt, r);

D)FILE* ifp = fopen("num.txt", r);

E)None of the Above

16) What does the following function do?

void f(int array[], int length) {

  int i;

  int temp = array[0];

  for (i=0; i<length-1; i++)

    array[i] = array[i+1];

  array[length-1] = temp;

}

A)sorts the values in the array

B)copies the first value into each array element

C)does a left circular shift on the items in the array

D)does a right circular shift on the items in the array

E)None of the Above

17) Which of the following is true about actual parameters?

A)They exist only in the function main.

B)They must contain type information.

C)They must be variables.

D)They are written in the definition of the function.

E)None of the Above

18) Given the function x below, what is the value of the expression

x(x(1,2), x(4,3))?

int x(int a, int b) {

  if (a < b)

    return a + b;

  return a*b;

}

A)10

B)15

C)21

D)24

E)None of the Above

19) Which of the following reads in one integer from the file

pointed to by ifp into the variable num?

A)scanf("%d", &num);

B)fscanf("%d", &num);

C)fscanf(ifp, &num); 

D)fscanf(ifp, "%d", &num);

E)None of the Above
20) The Yankees and Phillies will play Game 6 of the 2009 World Series later tonight. How many World Series games have been played up until this point, this year?

A) 5

B) 7

C) 9

D) 11

E) 13
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1) (10 pts) Complete the function below so that it returns the difference between the largest and smallest values stored in the array values. Note: values stores length number of elements.

int range(int values[], int length) {

    int min = values[0], max = values[0], index;

    return max-min;

}

2) (10 pts) Complete the function below so that it returns the product of the digits of its input parameter n. (For example productdigits(16543) should return 1*6*5*4*3=360.)

int productdigits(int n) {

}

3) (20 pts) Complete the function below so that it prints out a design of a circle of radius r with the character c. In particular, your function will print out a (2r+1)x(2r+1) grid of characters, where each character is either a space or the character c. The center of the circle will be at the middle of this grid. If the top left-hand corner of the grid is assigned the coordinates (-r,-r) and the bottom right-hand coordinate is assigned the coordinates (r, r), then the center of the circle will be at (0,0). Here is an example of the output for r = 3 and c = ‘*’:

   *

 *****

 *****

*******

 *****

 *****

   *

void printCircle(int r, char c) {

}
